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· AND: Difference between dates >= 4 days of: 
· AND: FIRST: 	
· OR: "Medication, Administered: Parenteral Anticoagulant" < 1 day(s) starts after start of ("Medication, Administered: Warfarin" during "Occurrence A of Encounter, Performed: Encounter Inpatient") 
· OR: "Medication, Administered: Warfarin" < 1 day(s) starts after start of ("Medication, Administered: Parenteral Anticoagulant" during "Occurrence A of Encounter, Performed: Encounter Inpatient") 
· OR: "Medication, Administered: Parenteral Anticoagulant" < 1 day(s) starts after start of ("Medication, Administered: Warfarin" during "Occurrence A of Encounter, Performed: Emergency Department Visit") 
· OR: "Medication, Administered: Warfarin" < 1 day(s) starts after start of ("Medication, Administered: Parenteral Anticoagulant" during "Occurrence A of Encounter, Performed: Emergency Department Visit") 
· AND: MOST RECENT: 
· OR: "Occurrence A of Medication, Administered: Parenteral Anticoagulant" during "Occurrence A of Encounter, Performed: Encounter Inpatient" 
· OR: "Occurrence A of Medication, Administered: Parenteral Anticoagulant" during "Occurrence A of Encounter, Performed: Emergency Department Visit" 
· AND: 
· OR: "Laboratory Test, Result: INR (result >= 2.0 )" <= 1 day(s) starts after start of MOST RECENT :"Occurrence A of Medication, Administered: Parenteral Anticoagulant" 

Testing in BONNIE and questions are – 
· [bookmark: _GoBack]If MOST RECENT :"Occurrence A of Medication, Administered: Parenteral Anticoagulant" is referring to the Most Recent Parental administered during Encounter inpatient, why case #1(1) failed?
· If MOST RECENT :"Occurrence A of Medication, Administered: Parenteral Anticoagulant" is NOT referring to during Encounter Inpatient, why case #3 fail?
	 
	Overlap Therapy = 4 days in Encounter Inpatient
	

	 
	Case #1 (1)
	Case #3
	

	Inpatient
	5/4 - 5/20
	5/4 - 5/20
	

	Parenteral
	5/10 - 5/14
	5/10 - 5/14
	

	Warfarin
	5/10 - 5/13
	5/10 - 5/13
	

	Most recent parenteral
	5/21 
(After Dsc DT)
	5/21 
(After Dsc DT)
	

	INR = 2
	5/14
	5/22 
(After Dsc DT)
	

	Outcome
	D
	D
	



